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Solutions & Winners

Kids Challenge!
Did you find the word?
Itis “SMART”.

Kids solved both crossword and also found
the puzzle word. Congratulations Kids!
Keep up the pace and get ready for next.

Kids’ ‘X’ Word Solution:

Smart kids :

Puja Ainapurapu, Visakhapatnam.
Swathi Ainapurapu, Visakhapatnam.
K. Sashank, Kakinada.

Sravya Ainapurapu, St. Louis, Missouri.
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�
Kids Challenge!
Did you find the word?
It is “SMART”.
Kids solved both crossword and also found
the puzzle word. Congratulations Kids!
Keep up the pace and get ready for next.
Smart kids :
Puja Ainapurapu, Visakhapatnam.
Swathi Ainapurapu, Visakhapatnam.
K. Sashank, Kakinada.
Sravya Ainapurapu, St. Louis, Missouri.
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Salutation to your solution! — We ourselves disclosing!!
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It is hard to draw a venn diagram
representing pupil appearing for 10
examinations. But we can draw venn
diagrams representing people appeared
for 1,2,3,4 examinations and get a
formula to evaluate the number of
groups that can be formed out of pupil
appeared for 10 examinations.

2.9

If you observe the numbers given, all of
them consists digits 1 through 9 in
them. So sum of all the digits in the
given numbers is (1+2+3+ ... +9) 45.
Based on formula, if the sum of all the
digits in a number is divisible by 9, then
the number is also divisible by 9.
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It is hard to draw a venn diagram
representing pupil appearing for 10
examinations. But we can draw venn
diagrams representing people appeared
for 1,2,3,4 examinations and get a
formula to evaluate the number of
groups that can be formed out of pupil
appeared for 10 examinations.
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If you observe the numbers given, all of
them consists digits 1 through 9 in
them. So sum of all the digits in the
given numbers is (1+2+3+ … +9) 45.
Based on formula, if the sum of all the
digits in a number is divisible by 9, then
the number is also divisible by 9.�


DODO0ESY

DSTESSwen - DB

DOPOIeSY

3. Boo AHS e DEFY  Srbod
ey Koy (W) 50808 .

4. 8 ISPESSH BRHLESNST AdES
o8 bc@i @oéégse_é;iw, 3ol »3)50) 53@9533@.
S TS vopg, dWRS Dopg @
S8, KDIOBHI S DI, DR
D35S 1 & 2cHen 2, 2 & wachen 1
SE0HESB.

5. o SoK HBESw, Seowy) Jok
DBEI 5T 1.3 BE Ko FoBo I3
Seoy DIVBEIN YIS SR ©oTB
2908 SR,

ISBeassn 1 D SESDy ghmsn 2A
ODHVOB, P IETH) Prog 44T 2
SSEHIINED N Fgos» = 24,
TEFYSD = A B ISEHIS0 0O SE
Brogmn TA" &0 SS050) Sgsw
(Diagonal) 2A. %9 S50y Zomswd
V2A. o535 8500 S5 Bwogsn 2A°
S*HO SSHISNSD  Teors B
DEGY) Tl SYI 508, 08" TodoBdd
Koerd)  Sokore &32roto%08,  Bodd
OESHBS00rT HDJoToe! S8 & )8
FPOgINS’H0E Bo IYD  wPAI0OWH
BXIY Teoly THe FTogsn 08
SHO Bow wPNBINe DT

TAN2)Y. Bocs S So% 0 FTegsn
S*HO S50 Boss
sysyEIHe Brogms = 2A° - T (AN2)

DTOGID -

5508 el I S0K,© FTegsn = 2(2A% -

3. Right arrow (%) will fit in both the
blocks.

4. The answer is the greatest in-circle

and two small circles.

Please note the correction:

The picture depicts the greatest circle
and two circles in Figure 2, but the
explanation indicates Figure 1 for 2 and
Figure 2 for 1.

5. The pink area is slightly more than

1.3 times of black area. But black area
looks more compared to pink due to
optical illusion.

Explanation :

If we assume the side of outer square is
2A, then the area of the square is 4A°,
The diameter of circle inscribed in the
square is 2A, means the radius is A. So
the area of circle inscribed in the outer
square 1is TA®. Now the diagonal of
small square is 2A. So the side of the
inner square is \/ZA and thus the area of
inner square is 2A%. If we imagine the

two petals out of four petals in the inner
square as pink, then you can view 2
semi circles in the square. By
subtracting 2 black parts area from the
area of two semi circles, we get the area
of 4 petals. The area of two semi circles

= TTAN2).

The area of 2 black parts = Area of
inner square — Area of 2 semi circles

= 2A - T (AN2)2

TUAN2)?) = 4A% - TTAZ
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1˘� The answer is the greatest in-circle
and two small circles.
Please note the correction:
The picture depicts the greatest circle
and two circles in Figure 2, but the
explanation indicates Figure 1 for 2 and
Figure 2 for 1.
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I˘� The pink area is slightly more than
1.3 times of black area. But black area
looks more compared to pink due to
optical illusion.�
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Explanation :
If we assume the side of outer square is
2A, then the area of the square is 4AF.
The diameter of circle inscribed in the
square is 2A, means the radius is A. So
the area of circle inscribed in the outer
square is pAF˘� Now the diagonal of
small square is 2A. So the side of the
inner square is ÷FA and thus the area of
inner square is FAF. If we imagine the
two petals out of four petals in the inner
square as pink, then you can view 2
semi circles in the square. By
subtracting 2 black parts area from the
area of two semi circles, we get the area
of 4 petals. The area of two semi circles
= p+Ab÷F,F.
The area of 2 black parts = Area of
inner square – Area of 2 semi circles
= FAF���p�+Ab÷F,F. �
 ���� ������˝������N����� �Q��"#L��D�����U�F+FAF���p+A/÷F,F,�U�1AF���pAF˘�
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So area of 4 black pieces = 2(2A% - T(AN2))) = 4A% - A
Hoord) ok STOFED = 2 NG ITOIID - T I SNEY© ITOFS0.
Area of pink part = Area of outer circle — Area of 4 black pieces.
= TTA® - (4A%- TTA®) = (2T0 - 4)A” = (2 x 22/7 - 4)A”.
= (16/7)A°.
S JoK QB_%”ossﬁa) =2 WSS9 03_%"053533 -
2 3 FTogo +
ROV &597 S0E) . © 03_%"@5;533.
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Area of black part = Area of outer square -
Area of outer circle +
Area of 4 black pieces.

= 4A°- TA® + 4A° - TTA®.
= 8A%- (2 x 227)A”,

—— 24—

= (8 - 44/7)A° = (12/7)A”.
ST, MooD GTERY FTOINIE, T ariRY FTOHIH G (Ratio)

So ratio of pink area to black area
= (16/7)A° / (12/7)A%) = 16/12 = 4/3 = ~1.333
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Think once
In Nature :
Water flows from high ground to low ground ...
Heat is transmitted from high temperature to low temperature ...
Electricity is transmitted from high voltage to low voltage ...
Wind blows from high pressure region to low pressure region ...
But only the MONEY seldom flows from rich to poor!
If money also flows from rich to poor,
There will not be any rich & poor distinction.
There will not be any boundaries between the countries.
World peace can be an achievable target.
Universal brotherhood is possible.
That is the day I am anticipating for ...
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Area of black part = Area of outer square -
Area of outer circle +
Area of 4 black pieces.�
������������������������ˆ�˙A����pA��1�˙A����pA�˝�
������������������������ˆ�2A����˘� x���+,ˇA�˝�
�� �
������������������������ˆ�˘2���˙˙+,ˇA��ˆ�˘-�+,ˇA�˝�
)� �/��3�˛���
˚�4
˛�$�/� !"��#������)��3�����$�/�4
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So ratio of pink area to black area
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Think once
In Nature :
Water flows from high ground to low ground ...
Heat is transmitted from high temperature to low temperature ...
Electricity is transmitted from high voltage to low voltage ...
Wind blows from high pressure region to low pressure region ...
But only the MONEY seldom flows from rich to poor!
If money also flows from rich to poor,
There will not be any rich & poor distinction.
There will not be any boundaries between the countries.
World peace can be an achievable target.
Universal brotherhood is possible.
That is the day I am anticipating for …




